Industrial Sliding Door System #2 ~ #4

Loading Weight

(Per two 4-wheel h

70Kg -—> #2
150kg -—> #3
300kg > #4

Painting Color

Munsell

No. 5Y7/1 Spot Weldmg How to install
(Beige) Sliding Door
*Applicable: #5 Track System

Joint Wall Bracket ---------.

Ex. No. 3(#3) Parts Combination

Wall Bracket Top Track
° o
[ ]
,,,,,,, ° 3
Side Cover '

Stopper——

TOp Track Holder

RH
Top Track Holder

*Applicable Range: Steel No.2(#2)~No.4(#4)

Joint Plate ----;

Stopper with Rubber

fr T “ Guide Roller

- Bottom Guide Track with Anchor

Il Edge part of Top Track *2

wal gracket Top:Track

Top Track Holder

Connection parts for Top Tracks.

A short track can be made into a
long track.

Side ‘Cover Sto‘pper

*2) The case of fixing Top Track edge and Bracket by Stopper,
can't use Side Cover.
The case of using Side Cover, fix Top Track and Bracket
by spot welding.

B Gl
[=

4-Wheel

Plate
(For iron door)
*For Wooden door is Apron

Guide Roller

Bottom Stopper

. Ex. TOp Track Connection *piease do spot welding in case the ratting bothers you

et
3 i wal Brack
o

Connection Plate
Connection parts for Top Tracks.
Fix plate by bolts on the hole of
top track edge.

*The drawing is all image. Not guarantee the enforcement.
*Shown in some of Top Track and Bracket body being transpa

el
ot el Bract
0!

Joint Clamp

Connection parts for Top Tracks.

Prevent for the gap between Top Track and
Bracket.




Industrial Sliding Door System #4

2-Wheel: 150kg/ 4-Wheel: 300kg

2-Wheel
#4 AWH

Load Weight:
Up to 300kg/hanging 2 pcs

Wheel With Long Bolt
#4 4WH-1LB

Load Weight:
Up to 300kg/hanging 2 pcs

4-Wheel with Bearing
#4 4WH-B

Load Weight:
Up to 300kg/hanging 2 pcs

Wheel with Bearing
[Flexible Type]
#4 4WH-BN

Load Weight:
Up to 300kg/hanging 2 pcs

75 433
ﬁ 8| 27.3 |8
M Il
NR7ZN\VEN S
@Iy Ws
U U <
W5/8" i g‘i
Nut (12:9) IN

+Adapt Oil less bearing.
«In case of used frequently, please use 4-Weel with bearing.

43.3

. 8[27.3 (8

3 @"iﬁ TIE
MRS\ 8
BT ol

*Parts that is used by sandwiching a squared timber with nut.

*Adapt Oil less bearing.

139
= 433
24 8 27.3 |8
I :
|
(A Py oy
& NP, a
G <
ALY <
e 13 o ¥
15.9 -
Nut ) N

*Adapt High performance bearing(#6082Z)

=

o
IS
w0
o

| | -
T = <
W5/ e
Nut (15.9) N

*Wheel Axis moves flexibilty and 4-wheel always gets a
load equally even if the hanging bolt is learning.
*Adapt High performance bearing.

Tool D 4-Wheel
HD-42

Load Weight:
Up to 150kg/hanging 1 pc

Tool C 4-Wheel
HC-42

Load Weight:
Up to 150kg/ hanging 1 pc

Trolley 4-Wheel
HC-43

Load Weight:
Up to 150kg/hanging 1 pc

4-Wheel with Bearing

[Flexible Type]
With Long Bolt

#4 4WH-BN-1LB

Load Weight:
Up to 300kg/hanging 2 pcs

145 43.3
.L_I 8[27.3 18
S ! <
H@){e 3
: =
Nlo T
= !
© O
Van\ F\’q’f]-X
s PP

375 37.5 Roller
11 ($17)

7.6

*Optimum for hanging Air-tool and Electronic-tool by the
hole of balancer.

*Adapt Oil less bearing.

*Not applicable for Curve Track.

(¢17) 76

*Optimum for hanging Air-tool and Electronic-tool by the
hole of balancer.

*Adapt Oil less bearing.

*Not applicable for Curve Track.

*Not applicable for Track Holder.

By the bolt rolling freely, it can change the direction of
hanging object freely.

*Adapt Oil less bearing.

*Not applicable for Curve Track.

*Not applicable for Track holder, Apron and Plate.

1 43,5
75 8[27.5]8
3 | Tﬂﬁm
o
) )
Ll 2]
13-
W5/8" o
(15.9) ol
o =
Nut Lo

«Parts that is used by sandwiching a squared timber with nut.
*Adapt High performance bearing.

P



NEE

Industrial Sliding Door System #4

2-Wheel: 150kg/ 4-Wheel: 300kg

45.5
49

=
=h
35
154

122

87

Wheel with Bearing
#4 2WH

Load Weight:
Up to 150kg/hanging 2 pcs

*Bolt with retaining processing.
*Adapt a house bearing.
*Applicable for Curve Track.

436 70.4
9] 256 rQ
] "\
| W
o LN
|

2-Wheel with #4 Ring Type2 °As the Spec for wheels not hitting each
other, the surface of wheel is not scratched.

#4 2WH L2 «Adapt in house bearing.

Load Weight:

«Can't use Track holder.
Up to 75kg/per 1 pc hanging

704

(N
\W/

147.8

$9.3

=
9.2] 17.6
M10. 36

2-Wheel with #4 Shackle Type2 *As the Spec for wheels not hitting each

#4 2WHSY2 other, the surface of wheel is not scratched.

«Adapt in house bearing.
Load Weight:

«Can't use Track holder.
Up to 75kg/1 pc hanging

686 435
8] 275 |8
. T X
b g
o
pat o
J| g ol |
3
S
\\
0

0 s

#4 Tool 2-Wheel Type2 *Applicable for #4 Top track and Curve track.
*Adapt High performance bearing.
#4 2WHTU2

*As Wheel Axis moves flexibly, the running is smooth.
Door Weight:

«Can't use Track holder.
Up to 75kg/1 pc hanging

Please use 4-wheel in case of using for straight movement.

54

2.3

71

L=

17.5J (19) [17.5

*Track Length: 1820, 2730, 3640, 4550mm
Painting Color is Munsell No. 5Y7/1

*Powder coating finish for 1820, 2730, 3640mm
Urethane coating finish for 45650mm

Top Track
#4 HR

40
8 24 8
= =
4
1 g

*Common with #3
*Track Length: 1820, 2730, 3640mm
«Curve Track differs in the section shape.

Bottom Guide Track
#3 GR

44

10 24 10

LT] l

1.2

10

25

Bottom Guide Track with Anchor *Common with #3

*Track Length: 1820, 2730, 3640mm
#3 NGR *With Anchor on both sieds.
«Curve Rail differs in the section shape.

40
8 24
QLM
1
~
Y
38 )
*Common with #3
*Material: SPHC (Lacqur-finish, Munsell No. 5Y7/1)

*Standard R: R920 (1/4 Circle)
*Made to order except item of standard stock.

Curve Guide Track
#3 GR920R

44 "
23 || -
2
175
54

Curve Top Track
#4 HR920R

*Material: SGHC (Baking finish, Munsell No. 5Y7/1)
«Standard R: R920 (1/4 Circle)
*Made to order except item of standard stock.



Industrial Sliding Door System #4

120

32

56

Side Cover
#4 STP

Plate
#4 PL

Apron
#4 AP

Stopper
#3 CS

Stopper with Rubber

#3 CsSQ

©
"
i
o
< Q
o Bl
50 L 60 |

*Edge Cover for preventing a gap.

Top Track Holder
«It's not for stopping the Wheel. In case of #4 RH
stopping the Wheel, please use the Stopper.
*Not applicable as Ceiling and Wall bracket.
*Can't use with Door Stopper.
W5/8"
4—¢11
‘L\ﬁf\ Pan) r%ﬂ AN 9[(\1
AN/
60
116
140
$27
[ B | ]o:TSE
T ¥
+Parts for connecting the bolt of 2 or 4-Wheel with the Joint Clamp
steel door. Joint clamp for Ceiling or Wall
(Double Track)
#4 ORJ
alin
| O |
E [=)
| T
105 | 8 <
#1085 @
Y8
o
@D
24
3 a8
e S 5][37~52] [85
*With M8 x 65 Countersunk Bolt & Nut. Joint Clamp
«Parts for connecting the bolt of 2 or 4-Wheel to wooden door. For Wall Bracket
(Single Track)
#4 SRJ
44
33
e
5 3]
8 %
T m$
L _M10
44 a“

«Common with #3

«In case the large impact force is expected, please use the
bottom stopper with this stopper together and hit the door
on the vertical frame.

*Can't use with Side Cover.

#4 RP

75
44 36
&y
® 5
— 1§ | feqr
T ot
e ’
44 4g MO

*Common with #3
*Used for preventing the Wheel dropout and Door positioning.
«In case the large impact force is expected, please use the

bottom stopper with this stopper together and hit the door
on the vertical frame.

*Can't use with Side Cover.

120

«Connection parts for Top tracks.
«Short length rails can be connected in advance and
installed as long length Rail.

*Not applicable for Curve Track and L-shaped ceiling bracket.

*Assembly bolt: M8 x 16 Truss Screw.

55

© B
4

105

I ——

«Parts that can prevent for the gap of Top Tracks.
*Not available for Curve Track and L-shaped ceiling bracket.

55

64
8 105

I N ==

*Used for Top Track Joint Bracket
*Not available for Curve Track and L-shaped ceiling bracket.

175

27 27 2-¢26

k>
o

77 L 77

Track Connection Plate *With 2 pes of M10 bolt

«Can connect the rails without welding and prevent for
backlash of rails.

+Not available for Curve Track, Wall and Ceiling Brackets.

S



N

Industrial Sliding Door System #4

M12
88
5 31~51 8
20 48
ARy | LIEE 9
o O, = 2
' | 8"” |
| | o
N
wue /" TR egj gy -
14 9 418
21 =
Guide Roller with Frame +With M8 x 65 countersunk bolt and Special nut. M12 Bolt Type Guide Roller *Common with #3
*Roller is Polyacetal (Black Color,
#3 GRAP #3 GRB12 yacetal )

*Reinforced Type of #3GRB
*Please use the Guide Roller in the place where the
strength is required.

60 23 _ 36
T =2 4445 Flat Head.
g 15~ | :I:i@ & @ Qé
- P
3-¢6.3, S 25 2
< | 74
= _
UK
Iy J\ -
o
LHJ [ i i i i 1 li(sp]
$21
i i C ith #3 «Common with #3
Retrofit Guide Roller ~ ommon with # Bottom Stopper

«Applicablle door thickness: 30~50mm

*With 3 pcs of Nominal dia: 5 x 25 countersunk tapping screw.
*Make sure to fasten the roller tightly as it is temporary
fixed state when shipped.

*Mount the stopper in the internal grooved on the Guide Rail
#3 GRL #3 GRS

so that it works as the stopper for Guide Roller and it's used
for door positioning.

«In case of the large impact force is expected, please use
the stopper or stopper with rubber together and hit the door
on the vertical frame.

100
60 32
o M2 m 27 $4.3 W
of i Ll [ J [‘—T
ol $$ 2—¢9 ~
© &
ol ’ “ *: gf
a Tl e
< 17? 66
22
Plate Type Guide Roller *Common with #3 Anchor for «Common with #3
#3 GRP12 *Roller is Polyacetal (Black Color) Bottom Guide Track +Please use this parts as Anchor for Bottom Guide Track.

*Reinforced Type of #3GRO
*Please use in the place where the strength is required. #3 GRA



Industrial Sliding Door System #4

Standard Mounting Pitch of Bracket is 400~500mm

177 2414 o 177 14 el
14 30
¢':‘ I 0 140 33 54
i i
fh |
i N m /
T ~| T
< ‘ =
4l No| a4l ~ 3
18] 1(29) i 18] |29)] 18 #
65 65 4
Ceiling Bracket +Assembly bolt of box and Wing are all W1/2" countersunk bolt. Joint Ceiling Bracket +Assembly bolt of box and Wing are all W1/2" countersunk bolt.
(Single Track) *Recommended mounting Screw: M12 (Single Track) *Recommended mounting Screw: M12
#4 OB #2 OBT
242 2eld 242 120
205 .
{ = —— 130, 205 i 33_ 54
]
~F o S ~H
T n__n
= T || o N
a4l RS Al ISE -
18 19 18 | L JL AL
“62—3 18| [29)] 18
130 65 |
130
Ceiling Bracket *Assembly bolt of box and Wing are all W1/2" countersunk bolt. Joint Ceiling Bracket *Assembly bolt of box and Wing are all W1/2" countersunk bolt.
*Recommended mounting Screw: M12 *Recommended mounting Screw: M12
(Double Track) uniing Screw (Double Track) 9
#4 OB2 #4 OBT2
- 2-414 307 4-414 120
270 33 _54
270 0 r 1 ]
\ £ ‘
~k ‘ o i M an S \
To || O || W N SN 14 E \
4l NS i 4]l X o
18297118 T~ e
65 195 195
Ceiling Bracket +*Assembly bolt of box and Wing are all W1/2" countersunk bolt. Joint Ceiling Bracket ~Assembly bolt of box and Wing are all W1/2" countersunk bolt.

*Recommended mounting Screw: M12 *Recommended mounting Screw: M12

(Triple Track) (Triple Track)
#4 OB3 #4 OBT3

4-414
372 / 120

372
o ‘ \ 335 335 /] ‘ 33 54
e N P o L
| (e | e T o ~ I I
18] 29 18
65 260 260
Ceiling Bracket +Assembly bolt of box and Wing are all W1/2" countersunk bolt. Joint Ceiling Bracket +Assembly bolt of box and Wing are all W1/2" countersunk bolt.
*Recommended mounting Screw: *Recommended mounting Screw:
(Four Track) R ded mounting Screw: M12 (Four Track) R ded Screw: M12
#4 OB4 #4 OBT4
120
60 33 54
30,
! : i i
|
| 9
2 i =
|
L-Shaped *Used for preventing the gap between Top track and Ceiling L-Shaped +Used for preventing the gap between Rail and Ceiling Bracket.
- Bracket. . - *Recommended mounting Screw: M12
Ceiling Bracket -Recommended mounting Screw: M12 Joint Ceiling Bracket 9

#4 OBL #4 OBLT



Nt

Industrial Sliding Door System #4

2-Wheel: 150kg/ 4-Wheel: 300kg

Wall Bracket
(Single Track)
#4 SB

Wall Bracket
(Double Track)
#4 SB2

Wall Bracket
(Triple Track)
#4 SB3

Wall Bracket
(Four Track)
#4 SB4

Ceiling Bracket
#4 BOX

267

134

— e
18] [(29)] [18
65

20

94

256

142

137

$145

%O

60

*Recommended mounting Screw: M12

g

60

*Assembly bolt of box and Stay are all W1/2" countersunk bolt.
*Recommended mounting Screw: M12

2-Q14A

b

60

|

*Assembly bolt of box and Stay are all W1/2" countersunk bolt.
*Recommended mounting Screw: M12

2-¢14£

b

el

*Assembly bolt of box and Stay are all W1/2" countersunk bolt.
*Recommended mounting Screw: M12

$135
60
(r T
[
4 CE
18] (29) [18
65

*Please use the W1/2" or M12 countersunk bolt for installation.

Standard Mounting Pitch of Bracket is 400~500mm

Joint Wall Bracket
(Single Track)
#4 SBT

Joint Wall Bracket
(Double Track)
#4 SBT2

Joint Wall Bracket
(Triple Track)
#4 SBT3

Joint Wall Bracket
(Four Track)
#4 SBT4

Joint Ceiling Bracket

#4 TBOX

>
i
IS

=

18] |eg) [18
65

*Recommended mounting Screw: M12

4-414 33 _54

120

*Assembly bolt of box and Stay are all W1/2" countersunk bolt.
*Recommended mounting Screw: M12

4-414 33_54

9

120

*Assembly bolt of box and Stay are all W1/2" countersunk bolt.
*Recommended mounting Screw: M12

4
4-914 T 1
e ¢
T
ﬁg
120

*Assembly bolt of box and Stay are all W1/2" countersunk bolt.
*Recommended mounting Screw: M12

2-414 120
/ a5 54
| |

(T i I I

IS
86
94

18](29) 18
65

*Please use the W1/2" or M12 countersunk bolt for installation.



	ドアハンガー#2~4表紙(英語圧縮後).pdf
	バインダー3.pdf
	スチールドアハンガー#4(1).pdf
	スチールドアハンガー#4(2).pdf
	スチールドアハンガー#4(3).pdf
	スチールドアハンガー#4(4).pdf




